Garland Independent School District GISD Sourcing Bid Tab Report

Bid#:	31525	Title: 335-15
		Student Nutritional
		Services

Quote# Vendor / Supplier	EPCNT	Discount
467899 ADVANCE FOOD CO INC	No	N/A
466894 ALPHA FOODS CO	no	Delivery
466911 AMERICAN FOODS GROUP LLC	No	Minimum
466906 ASIAN FOOD SOLUTIONS	Yes	Minimum
466866 BRAUN BEEF CO INC	Yes	
466928 BRIDGFORD MARKETING COMPA	NY Yes	N/A
467906 BROOKWOOD FARMS INCORPOR		N/A
466908 BUENA VISTA FOOD PRODUCTS	Yes	0
467923 CHEFS CORNER FOODS		1% Net 10
466855 CONAGRA FOODS INCORPORAT		N/A
466921 ELEMENTS FOODS INC	YES	N/A
466907 *GFA BRANDS INC DBA GREAT F	OODS Yes	0
OF AMERICA		
466883 GIORGIO FOODS INC	Yes	N/a
466918 GLOBAL FOODS INCORPORATED) Yes	Full pallet
466878 GOOD SOURCE SOLUTIONS DBA		n/a
467909 GOODMAN FOOD PRODUCTS DB	A DON YES	N/A
467903 J AND J SNACK FOODS CORP	No	No discount
467897 JENNIE O TURKEY STORE SALES		0
466865 JTM PROVISIONS CO INC	NO	N/A
466857 MCLANE EXPRESS INCORPORAT		
467902 SCHWANS FOOD SERVICE	No	N/A
467921 SYSCO USA I INCORPORATED DI		10%
MAID-RITE SPECIALTY FOODS, L	LC	

*Confidental

					Confidental			
Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	Beef Fajita Strips, Whole muscle seasoned, fully cooked, sliced into			22		4000	***	^ ^ ^ ~ ^ ~ ~ ~ ~ ~ ~ ~ ~ ~
1	strips, Char marked, 10 lb/Case	Y		cs	ADVANCE FOOD CO INC	1000	\$62.67	\$62,670.00
2	Beef Steak Burger, 80/20, Pre- cooked IQF, 100% pure beef, No extenders or fillers, No added trans- fats, 180/3oz/Cs	Y		cs	ADVANCE FOOD CO INC	500	\$34.80	\$17,400.00
				cs	AMERICAN FOODS GROUP LLC	500	\$39.20	\$19,600.00
				cs	ADVANCE FOOD CO INC-ALT	500	\$44.75	\$22,375.00
				US	ADVANCE FOOD CO INC-ALT	300	Ф44./ Э	\$22,313.UU
				cs	ADVANCE FOOD CO INC-ALT	500	\$51.45	\$25,725.00
				cs	GOODMAN FOOD PRODUCTS DBA DON LEE FARMS	500	\$96.19	\$48,095.00
3	BISCUIT, PAR-BAKED, PRE- SLICED, NO TRANS FAT, 51% WHOLE GRAIN WHITE WHEAT, 100/1.9oz/CASE	N	зто	cs	JTM PROVISIONS CO INC	1000	\$120.39 \$10.65	\$60,195.00 \$10,650.00
		Υ		cs	BRIDGFORD MARKETING COMPANY	1000	\$22.30	\$22,300.00
					SYSCO USA I INCORPORATED	4000	*00.00	\$00.000.00
<u> </u>		N		CS	DBA SYSCO NORTH TEXAS MCLANE EXPRESS	1000	\$23.23	\$23,230.00
		N		cs	INCORPORATED DBA THE CD HARTNETT COMPANY	1000	\$25.06	\$25,060.00
								, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		N		cs	J AND J SNACK FOODS CORP	1000	\$29.00	\$29,000.00
		N		cs	BRAUN BEEF CO INC-ALT	1000	\$29.63	\$29,630.00
		N		cs	BRAUN BEEF CO INC	1000	\$37.70	\$37,700.00
4	BURRITO, CHIPOTLE BEAN AND CHEESE, 50% WHOLE GRAIN, FOILED WRAPPED, 60/5.4oz/CS.	Y			ELEMENTS FOODS INC	1000	\$38.34	\$38,340.00

	(CATERING) BACON, SLICED, 10							
5	LB BULK, NATURAL SMOKED, WRIGHT #401110-616 OR EQUAL	NB					NB	NB
	(CATERING) RAW HAMBURGER PATTY, BLACK ANGUS, IQF, 5.33							
6	oz 3/1	NB					NB	NB
7	(CATERING) BISCUIT DOUGH, SOUTHERN BUTTERMILK STYLE, 144/2oz/CS	NA	8PS	cs	SYSCO USA I INCORPORATED DBA SYSCO NORTH TEXAS	50	\$12.88	\$644.00
			0.5		MCLANE EXPRESS		¥1200	*******
		NA	8PS	cs	INCORPORATED DBA THE CD HARTNETT COMPANY	50	\$22.87	\$1,143.50
			8PS	cs	BRAUN BEEF CO INC	50	\$31.88	\$1,594.00
		NA	873	03	MCLANE EXPRESS	30	\$31.00	\$1,394.00
8	(CATERING) PARMESAN CHEESE PC	Υ		cs	INCORPORATED DBA THE CD HARTNETT COMPANY	25	\$20.37	\$509.25
	TERYAKI CHICKEN BREAST, PRECOOKED, BREAST SHAPED BREAST AND RIB MEAT ONLY, 90% FAT FREE, MAY CONTAIN							
9	MINIMAL PROTEIN ISOLATES FOR BINDER, PIERRE #9829 OR EQUAL	Y		cs	ADVANCE FOOD CO INC	1000	\$28.80	\$28,800.00
	(COMMERCIAL) BAR-B-Q PORK, LOW SODIUM TEXAS WESTERN SAUCE, FULLY COOKED, FINAL USAGE DEPENDS UPON USDA DONATED PRODUCT							
10	AVAILABILITY, 4/5 LB, BOIL IN BAG, FULLY COOKED	NA		cs	GLOBAL FOODS INCORPORATED	1500	\$26.90	\$40,350.00
	(COMMODITY) BAR-B-Q PORK,	NA		CS	JTM PROVISIONS CO INC	1500	\$62.53	\$93,795.00
	LOW SODIUM TEXAS WESTERN SAUCE, FULLY COOKED, FINAL USAGE DEPENDS UPON USDA DONATED PRODUCT							
11	AVAILABILITY, 4/5 LB, BOIL IN BAG, FULLY COOKED	Υ		cs	BROOKWOOD FARMS INCORPORATED	1500	\$32.00	\$48,000.00
		N		cs	JTM PROVISIONS CO INC	1500	\$34.67	\$52,005.00
12	(COMMODITY) Cheezy Bread, 51% Whole Grain, Low Moisture-Part Skim Mozzarella Cheese, No Trans Fats	N	370	cs	BRAUN BEEF CO INC	2000	£27.70	¢55 400 00
12	rais	IN	3TQ 4NS Bid	CS	BRAUN BEEF CO INC	2000	\$27.70	\$55,400.00
		N	Stuffed breadstick	cs	CONAGRA FOODS INCORPORATED	2000	\$29.94	\$59,880.00
					-		,	, ,
		N	1NL	cs	SCHWANS FOOD SERVICE	2000	\$36.40	\$72,800.00
					The second second		, 55.45	Ţ. 2 ,000.00
		Υ		cs	GIORGIO FOODS INC	2000	\$46.37	\$92,740.00
		N		cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	2000	\$46.59	\$93,180.00
	(COMMERCIAL) Cheezy Bread, 51% Whole Grain, Low Moisture- Part Skim Mozzarella Cheese, No	IN		- 55	DEA TOOLS TON GOTTOOLS	2000	ψ+0.33	ψ55,100.00
13	Trans Fats	N	1NL	cs	SCHWANS FOOD SERVICE	2000	\$43.39	\$86,780.00
		N	зто	cs	BRAUN BEEF CO INC	2000	\$46.71	\$93,420.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		N	3TQ	cs	HARTNETT COMPANY	2000	\$47.10	\$94,200.00
			4NS Bid Stuffed		CONAGRA FOODS	2022	640.00	£00 000 00
		N	breadstick	CS	INCORPORATED	2000	\$49.00	\$98,000.00
		Υ		cs	GIORGIO FOODS INC	2000	\$67.25	\$134,500.00

	ı		I	I	1			
		N		cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	2000	\$71.47	\$142,940.00
	(COMMODITY) Crescents-Mini, Steak and Cheese, 51% Whole Grain Crust, Giorgio Foods #10573							
14	or similar	NB					NB	NB
	(COMMERCIAL) Crescents-Mini, Steak and Cheese, 51% Whole Grain Crust, Giorgio Foods #10573							
15	or similar (COMMODITY) Crescents-Mini,	NB					NB	NB
16	Turkey Pepperoni, 51% Whole Grain Crust, Giorgio Foods #9073 or similar	Υ		cs	GIORGIO FOODS INC	3000	\$28.60	\$85,800.00
	(COMMERCIAL) Crescents-Mini, Turkey Pepperoni, 51% Whole Grain Crust, Giorgio Foods #9073							
17	or similar	Υ		cs	GIORGIO FOODS INC	3000	\$35.61	\$106,830.00
18	(COMMERCIAL) Pizza/Calzone, Pepperoni, 51% Whole Grain Crust, 60ct/5.3oz/cs	N	зто	cs	BUENA VISTA FOOD PRODUCTS	1500	\$39.75	\$59,625.00
10	00003.30203	- IN	31Q	- 00	I KODOOTO	1300	ψ33.73	ψ33,023.00
		N	8PS	cs	SCHWANS FOOD SERVICE	1500	\$45.52	\$68,280.00
		N	8PS	cs	CONAGRA FOODS INCORPORATED	1500	\$48.00	\$72,000.00
		Υ		cs	ALPHA FOODS CO	1500	\$53.14	\$79,710.00
		N		cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	1500	\$72.38	\$108,570.00
19	(COMMODITY) Pizza/Calzone, Pepperoni, 51% Whole Grain Crust, 60ct/5.3oz/cs	N	зто	cs	BUENA VISTA FOOD PRODUCTS	1500	\$28.63	\$42,945.00
				CC	SCHWANG FOOD SERVICE	1500	£26.04	\$55.255.00
		N	8PS	CS	SCHWANS FOOD SERVICE	1500	\$36.91	\$55,365.00
		N	8PS	cs	CONAGRA FOODS INCORPORATED	1500	\$39.15	\$58,725.00
		Υ		cs	ALPHA FOODS CO	1500	\$39.20	\$58,800.00
		N		cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	1500	\$49.89	\$74,835.00
20	(COMMODITY) Turkey Crumbles Dark/White meat blend, No fillers, no allergens or Gluten, Fully cooked IQF. 8/5lb case	N	3TO	cs	MAID-RITE SPECIALTY FOODS,	500	\$38.70	\$19.350.00
	pooned (d) , droib oddo	Y	310	cs	JENNIE O TURKEY STORE SALES LLC	500	\$79.60	\$39,800.00
	(COMMERCIAL) Turkey Crumbles Dark/White meat blend, No fillers,	•		00	OALEO EEO	000	ψ1 0.00	φου,σου.σο
21	no allergens or Gluten, Fully cooked IQF, 8/5lb case	N	зто	cs	MAID-RITE SPECIALTY FOODS, LLC	500	\$74.00	\$37,000.00
	ACCUMODITY T	Υ		cs	JENNIE O TURKEY STORE SALES LLC	500	\$136.00	\$68,000.00
22	(COMMODITY) Turkey Bacon, Sliced, Dark/White meat blend, Fully Cooked, Frozen, Low Sodium, 12/50 slice/CS	Υ		cs	JENNIE O TURKEY STORE SALES LLC	500	\$72.45	\$36,225.00
23	(COMMERCIAL) Turkey Bacon, Sliced, Dark/White meat blend, Fully Cooked, Frozen, Low Sodium, 12/50 slice/CS	Υ		cs	JENNIE O TURKEY STORE SALES LLC	500	\$82.80	\$41,400.00
	(COMMODITY) Turkey Spaghetti Meat Sauce, Frozen, Fully cooked, Dark/White meat blend, Boil in							
24	Bag, Pre-seasoned, Contains no allergens or Gluten, 4/7lb/CS	N	зто	cs	JTM PROVISIONS CO INC	500	\$26.67	\$13,335.00

				1	1			
					JENNIE O TURKEY STORE			
		Υ		cs	SALES LLC	500	\$34.44	\$17,220.00
				- 00	GALLO LLO	300	\$57.77	Ψ17,220.00
	(COMMEDCIAL) Toulous Consultanti							
	(COMMERCIAL) Turkey Spaghetti							
	Meat Sauce, Frozen, Fully cooked,							
	Dark/White meat blend, Boil in				IENNIE O TURKEY STORE			
	Bag, Pre-seasoned, Contains no				JENNIE O TURKEY STORE			
25	allergens or Gluten, 4/7lb/CS	Υ		CS	SALES LLC	500	\$61.60	\$30,800.00
		N		CS	JTM PROVISIONS CO INC	500	\$61.79	\$30,895.00
	Croutons, 51% Whole Grain,							
26	4/40oz.bags/CS	Υ		cs	BRAUN BEEF CO INC	350	\$17.83	\$6,240.50
	, and the second				MCLANE EXPRESS			
					INCORPORATED DBA THE CD			
		N		cs	HARTNETT COMPANY	350	\$21.06	\$7,371.00
							V 200	\$1,611166
	Danishes, Fruit Filled, Apple							
	Cranberry or other fruit acceptable,							
	Whole Grain White Wheat Flour							
27	Preferred, 72/4.5oz/CS	Υ		cs	ELEMENTS FOODS INC	750	\$38.43	\$28,822.50
21	<u> </u>	Y		G	ELEMENTS FOODS INC	750	\$30.43	\$20,022.50
	DINNER ROLL, GLUTEN FREE,				TOTA DDANIDO INO DDA ODTAT			
-	51% WHOLE GRAIN, BREADSTICK				*GFA BRANDS INC DBA GREAT			
28	OR SIMILAR	N	1NL	CS	FOODS OF AMERICA	500		
					*GFA BRANDS INC DBA GREAT			
		Υ		cs	FOODS OF AMERICA-ALT	500		
	Plantains, Pre-cooked, Frozen			00	1 CODO OF AMERICA-ALT	300		
	slices, 100% natural, 4/6 lb.							
29	bags/CS	Υ		cs	BRAUN BEEF CO INC	200	\$28.15	\$5,630.00
29	bags/CS	Y		U3	BRAUN BEEF CO INC	200	\$20.15	\$5,630.00
					0V000 U04 I W000000 :			
				-	SYSCO USA I INCORPORATED	000	600 1-	AF 22.1
		N		CS	DBA SYSCO NORTH TEXAS	200	\$28.42	\$5,684.00
					MCLANE EXPRESS			
					INCORPORATED DBA THE CD			
		N		CS	HARTNETT COMPANY	200	\$29.36	\$5,872.00
	Yakisoba Noodles, 51% Whole							
	Grain min, Pre-cooked, Boil-in-bag,							
30	4/53 bags/CS	N	8PS	cs	BRAUN BEEF CO INC	500	\$22.24	\$11,120.00
								. ,
					SYSCO USA I INCORPORATED			
		N	8PS	cs	DBA SYSCO NORTH TEXAS	500	\$22.50	\$11,250.00
-		14	OF 3	- 55	22. C. COCC HORTH TEXAC	-	Ψ.Σ.30	ψ11,200.00
		Υ		cs	ASIAN FOOD SOLUTIONS	500	\$28.18	\$14,090.00
-	 			CS	ASIAN FOOD SOLUTIONS	300	\$20.10	\$14,090.00
				-	CHEES CORNED FOODS	E00	600.01	\$4E 40E 00
-	 	N		CS	CHEFS CORNER FOODS	500	\$30.21	\$15,105.00
					GOOD SOURCE SOLUTIONS			
		N		CS	DBA TOOLS FOR SCHOOLS	500	\$33.91	\$16,955.00